
1. Tallpyramider 

3 3 3 4 4 4 5 5 1

2 3 3 3 5 5 2 2 4

2 2 4 2 3 4 3 1 4

2. Regn ut 

Addisjon

13  +  10  = 3  +  1  = 14  +  10  =

3  +  9  = 15  +  3  = 9  +  6  =

8  +  9  = 3  +  10  = 12  +  4  =

2  +  3  = 14  +  12  = 15  +  10  =

12  +  10  = 1  +  8  = 5  +  14  =

13  +  9  = 2  +  14  = 10  +  12  =

5  +  12  = 8  +  1  = 6  +  15  =

4  +  13  = 12  +  13  = 6  +  13  =

12  +  13  = 2  +  15  = 12  +  14  =



9 1 4 10 6 2 8

9 7 17 10 15 1 16

8 13 14 2 15 9 19

3. Sorter tallene fra høyest til lavest 

Partall:

Oddetall:

Partall:

Oddetall:

Partall:

Oddetall:

4. Regn ut 

7  +  6  = 8  +  3  = 2  +  6  =

14  +  11  = 1  +  12  = 5  +  4  =

9  +  2  = 7  +  6  = 10  +  5  =

7  +  12  = 8  +  3  = 5  +  12  =

3  +  14  = 6  +  5  = 7  +  12  =

5  +  10  = 7  +  13  = 9  +  12  =

5  +  8  = 12  +  6  = 10  +  5  =

11  +  15  = 4  +  8  = 14  +  7  =

15  +  10  = 14  +  2  = 6  +  6  =


	Addisjon

